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el JI=2 3 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
E32= & MAl 850,000& 122 10,200
202 04l 18,960 21,600 N2,640
01 K01t 18,960 21,600 12,640
SN2Y AREZ o]
1,580,0002 122 18,960
203 =4l 10,300 10,300
01 D22 HARFA| 5,500 5,500
22d =y 5,500
M EA2ER=AH 4,800 4,800 0
FAEE gRFH 400,000&! 122 4,800
NeEs 2,977,000 357,000 2,620,000
LHRHeH X 2,977,000 357,000 2,620,000
EN=X s d&E= 2,500,000 0 2,500,000
RISdES 2,500,000 0 2,500,000
UIPIETSE—= 2,500,000 0 2,500,000
SN NP RSE—S 2,500,000
B SE3A dEs 477,000 357,000 120,000
701 JIEtRI HSHES 477,000 357,000 120,000
02 BIIHEEIAHINEES 477,000 357,000 120,000
SH s3HX EFI1Y Stz 2 7,000
AHHE] g=201Y Al 3 24 450,000
IeAg A Mk 2= 24 20,000




